EARAROBEEIERT — 2 N— IBISH —F

201954 A28 () 1mE)IB2H

12R ESiEgstsall

B2=B3— 7%

‘ (%] 8 ‘ [EmmEl  — | 4 (%) 15000 &

[AE4£] 1 7 :2,600,000 23 :1,040,000 @ 33 :650,000  ~ 4 7% :390,000 @ . 5 7& :260,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TN > fHaAElse :36. -1-1- . — IRAS (fafE)
il a7aressz > 6 e 1(3_6)2 1-1-1-1 | 38.8 1 (4_1?2) A
X THANAN B RT 0 H— "HET77— L4
N A L ER :36. 02— . — THIE— (1115
5 o|TL—bav g i 5 L 1(73?:)3 2-2-2-2 | 38.9 6 :?(5)) e
R84 A BiALSaYNAINR g
S = o—ia FHfE— : ~5-6- — NSRS GaFn)
317l g | Y ITHIIFS o7 o 1.(35.9 5-5-6-6 | 39.0 2 (5_060) (E?ﬁﬂaﬁ%
Rixrind4n— B:TVF4—XAT— ke
P A o7 | B 1:36.9 3-3-4-5 [39.3| — 3 493 | fEAAZ (1)
41810| 7 AINFTTE— A55.0 (757) (<o) | @) 21— hETHE
x> inA4A— BT TVaRTy b 11— FETHIS
N N ERRE :36. —4-5- . — KEHHEE (AE
5 3 Z2TAINTd—q2 5 6 570 (1739679) 3-4-5-4 39.1 1 (5_167) ki ]
Lihxexy BiHHFU— I 4
- 4 5 | FRER 1:37.2 6-7-7-7 |39.0| — 4 465 | FLEFARE ()1116)
6 4 R ERgY 57.0 (11/2) -2) %Uﬁ%i
B LINT Ry IR Bie—XNY Ty R EKT 7 — L
. . ATHER :37. —-8-2- . — AEBEE (115
B 6| xTFETLT # 7 ) A Gy | TR * o |
iKY TYURIR B:NTFRILE— Jr=] e ]
RN RN AHIES : -10-9- — siREA (1)
8l7lglET>aET D i 5 i 1.(338).0 10-10-9-9 | 39.2 7 <5+081) i
R:74H0 B:NYT/ L PR ]
Sy 7= s 7 | THEEE 1:38.3 8-6-8-8 [39.9| — 9 434 | WEHE (J11IE)
98111 VR ZAT 497 550 (11/2) w) SR
R:YZRE4—3I=Z24— B:XXHELF—FK puit e ]

: = i 4 | BHR 1:38.7 11-11-11-10{ 39.7 | — 8 423 | EAFE (1)
10/5|5|F—ITH1¥ 53.0 ) 2 BRzas - ()
SR M=32TR—L B:TAILRER AL

. . SEBR : -9-10- - BE=8 (JIliE)
1 VYN - i o8 i 1.(3:)).6 8-9-10-11 | 40.8 10 (4_823) el
R:2&2—-U>70-X BN, — st
® I —F—@EBIERL
13—+— |1,2,(3,10),8,4,6,(7,11),9,5
2a=7r= 1,2,10,3,8,11,4,6,7,9,5
Jol=5r= 1,(2,6),10,3,8,4,11,9,7,5
40—+ — 1,2,6,3,10,8,4,11,9,5,7
[ N3
BB 1 200/ 714K 1-2 630 % E 1-2 1,750M 3EHE 1-2-8 2,050/
8 B 1 120M 1-8 180M B 1-2 3,250M K31 1-2-8 10,890
2 280M 2-8 1,230M B E 1-2 2,040M
8 130M4 B H 1-2 2,930

ABICOVWTRDTEEERROODE. TR LIV,




